

Exponential Convergence for Cellular Neural Networks with Continuously Distributed Delays in the Leakage Terms

Wanmin Xiong¹, Junxia Meng^{2,†}

¹ College of Mathematics and Computer Science, Hunan University of Arts and Science,
Changde, Hunan 415000, P.R. China

² College of Mathematics, Physics and Information Engineering, Jiaying University,
Jiaying, Zhejiang 314001, P.R. China

Abstract: In this paper, we consider a class of cellular neural networks with continuously distributed delays in the leakage terms. By applying Lyapunov functional method and differential inequality techniques, without assuming the boundedness conditions on the activation functions, we establish new results to ensure that all solutions of the networks converge exponentially to zero point.

Keywords: Cellular neural network; exponential convergence; continuously distributed delays; leakage term.

MR(2000) Subject Classification: 34C25, 34K13, 34K25.

1. Introduction

It is well known that the dynamical behaviors of delayed cellular neural networks (DCNNs) have received much attention due to their potential applications in associated memory, parallel computing, pattern recognition, signal processing and optimization problems (see [1, 2, 3]). In particular, a neural network usually has a spatial nature due to the presence of an amount of parallel pathways of a variety of axon sizes and lengths, it is desired to model them by introducing continuously distributed delays over a certain duration of time [4, 5, 6]. On

[†]Corresponding author. Tel.: +86 057383643075; fax: +86 057383643075.

E-mails: wanminxiong2009@yahoo.com.cn (W. Xiong), mengjunxia1968@yahoo.com.cn (J. Meng).

the other hand, a typical time delay called Leakage (or “forgetting”) delay may exist in the negative feedback terms of the neural network system, and these terms are variously known as forgetting or leakage terms (see [7, 8, 9]). Consequently, K. Gopalsmay [10] investigated the stability on equilibrium for the bidirectional associative memory (BAM) neural networks with constant delay in the leakage term. Followed by this, the authors of [11–23] dealt with the existence and stability of equilibrium and periodic solutions for neuron networks model involving constant or time-varying leakage delays. Moreover, by using continuation theorem in coincidence degree theory and the Lyapunov functional, S. Peng [24] established some delay dependent criteria on the existence and global attractive periodic solutions of the bidirectional associative memory neural network with continuously distributed delays in the leakage terms. However, to the best of our knowledge, few authors have considered the exponential convergence behavior for all solutions of DCNNs with continuously distributed delays in the leakage terms. Motivated by the above arguments, in this present paper, we shall consider the following DCNNs with time-varying coefficients and continuously distributed delays in the leakage terms:

$$\begin{aligned}
 x'_i(t) = & -c_i(t) \int_0^\infty h_i(s)x_i(t-s)ds + \sum_{j=1}^n a_{ij}(t)f_j(x_j(t-\tau_{ij}(t))) \\
 & + \sum_{j=1}^n b_{ij}(t) \int_0^\infty K_{ij}(u)g_j(x_j(t-u))du + I_i(t), i = 1, 2, \dots, n,
 \end{aligned} \tag{1.1}$$

in which n corresponds to the number of units in a neural network, $x_i(t)$ corresponds to the state vector of the i th unit at the time t , $c_i(t) \geq 0$ represents the rate with which the i th unit will reset its potential to the resting state in isolation when disconnected from the network and external inputs at the time t . $a_{ij}(t)$ and $b_{ij}(t)$ are the connection weights at the time t , $\tau_{ij}(t) \geq 0$ denotes the transmission delay, $K_{ij}(u)$ and $h_i(u) \geq 0$ correspond to the transmission delay kernels, $I_i(t)$ denotes the external bias on the i th unit at the time t , f_j and g_j are activation functions of signal transmission, and $i, j = 1, 2, \dots, n$.

The main purpose of this paper is to give the new criteria for the convergence behavior for all solutions of system (1.1). By applying Lyapunov functional method and differential inequality techniques, avoiding the boundedness conditions on the activation functions, we derive some new sufficient conditions ensuring that all solutions of system (1.1) converge ex-

ponentially to zero point. Moreover, an example is also provided to illustrate the effectiveness of our results.

Throughout this paper, for $i, j = 1, 2, \dots, n$, it will be assumed that $c_i, I_i, a_{ij}, b_{ij}, \tau_{ij} : R \rightarrow R, h_i : [0, +\infty) \rightarrow [0, +\infty)$ and $K_{ij} : [0, +\infty) \rightarrow R$ are continuous functions, and there exist constants $c_i^+, a_{ij}^+, b_{ij}^+$ and τ_{ij}^+ such that

$$c_i^+ = \sup_{t \in R} c_i(t), \quad a_{ij}^+ = \sup_{t \in R} |a_{ij}(t)|, \quad b_{ij}^+ = \sup_{t \in R} |b_{ij}(t)|, \quad \tau_{ij}^+ = \sup_{t \in R} \tau_{ij}(t). \quad (1.2)$$

We also assume that the following conditions $(H_1), (H_2)$ and (H_3) hold.

(H_1) For each $i, j \in \{1, 2, \dots, n\}$, there exist nonnegative constants L_j^f and L_j^g such that

$$|f_j(u)| \leq L_j^f |u|, \quad |g_j(u)| \leq L_j^g |u|, \quad \text{for all } u \in R. \quad (1.3)$$

(H_2) For all $t > 0$ and $i, j \in \{1, 2, \dots, n\}$, there exist constants $\eta > 0, \lambda > 0$ and $\xi_i > 0$ such that

$$\int_0^\infty sh_i(s)e^{\lambda s} ds < +\infty, \quad \int_0^\infty |K_{ij}(u)|e^{\lambda u} du < +\infty,$$

and

$$\begin{aligned} -\eta &> -[c_i(t) \int_0^\infty h_i(s)e^{\lambda s} ds - \lambda(1 + c_i(t) \int_0^\infty sh_i(s)e^{\lambda s} ds) \\ &\quad - c_i(t)c_i^+ \int_0^\infty sh_i(s)e^{\lambda s} ds \int_0^\infty h_i(s)e^{\lambda s} ds] \xi_i \\ &\quad + \sum_{j=1}^n L_j^f (|a_{ij}(t)|e^{\lambda \tau_{ij}(t)} + a_{ij}^+ e^{\lambda \tau_{ij}^+} c_i(t) \int_0^\infty sh_i(s)e^{\lambda s} ds) \xi_j \\ &\quad + \sum_{j=1}^n L_j^g \int_0^\infty |K_{ij}(u)|e^{\lambda u} du (|b_{ij}(t)| + b_{ij}^+ c_i(t) \int_0^\infty sh_i(s)e^{\lambda s} ds) \xi_j. \end{aligned}$$

(H_3) $I_i(t) = O(e^{-\lambda t})$ ($t \rightarrow \pm\infty$), $i = 1, 2, \dots, n$.

The initial conditions associated with system (1.1) are of the form

$$x_i(s) = \varphi_i(s), \quad s \in (-\infty, 0], \quad i = 1, 2, \dots, n, \quad (1.4)$$

where $\varphi_i(\cdot)$ denotes real-valued bounded continuous function defined on $(-\infty, 0]$.

The remaining part of this paper is organized as follows. In Section 2, we present some new sufficient conditions to ensure that all solutions of system (1.1) converge exponentially to the zero point. In Section 3, we shall give some examples and remarks to illustrate our results obtained in the previous sections.

2. Main Results

Theorem 2.1. Let (H_1) , (H_2) and (H_3) hold. Then, for every solution $Z(t) = (x_1(t), x_2(t), \dots, x_n(t))^T$ of system (1.1) with any initial value $\varphi = (\varphi_1(t), \varphi_2(t), \dots, \varphi_n(t))^T$, there exists a positive constant K such that

$$|x_i(t)| \leq K\xi_i e^{-\lambda t} \quad \text{for all } t > 0, \quad i = 1, 2, \dots, n.$$

Proof. Set $Z(t) = (x_1(t), x_2(t), \dots, x_n(t))^T$ be a solution of system (1.1) with any initial value $\varphi = (\varphi_1(t), \varphi_2(t), \dots, \varphi_n(t))^T$, and let

$$X_i(t) = e^{\lambda t} x_i(t), \quad i = 1, 2, \dots, n.$$

In view of (1.1), we have

$$\begin{aligned} & X_i'(t) \\ = & \lambda X_i(t) + e^{\lambda t} \left[-c_i(t) \int_0^\infty h_i(s) x_i(t-s) ds + \sum_{j=1}^n a_{ij}(t) f_j(x_j(t - \tau_{ij}(t))) \right. \\ & \left. + \sum_{j=1}^n b_{ij}(t) \int_0^\infty K_{ij}(u) g_j(x_j(t-u)) du + I_i(t) \right] \\ = & \lambda X_i(t) - c_i(t) \int_0^\infty h_i(s) e^{\lambda s} X_i(t-s) ds + e^{\lambda t} \left[\sum_{j=1}^n a_{ij}(t) f_j(e^{-\lambda(t-\tau_{ij}(t))} X_j(t - \tau_{ij}(t))) \right. \\ & \left. + \sum_{j=1}^n b_{ij}(t) \int_0^\infty K_{ij}(u) g_j(e^{-\lambda(t-u)} X_j(t-u)) du + I_i(t) \right] \\ = & \lambda X_i(t) - c_i(t) \int_0^\infty h_i(s) e^{\lambda s} ds X_i(t) + c_i(t) \int_0^\infty h_i(s) e^{\lambda s} \int_{t-s}^t X_i'(u) du ds \\ & + e^{\lambda t} \left[\sum_{j=1}^n a_{ij}(t) f_j(e^{-\lambda(t-\tau_{ij}(t))} X_j(t - \tau_{ij}(t))) \right. \\ & \left. + \sum_{j=1}^n b_{ij}(t) \int_0^\infty K_{ij}(u) g_j(e^{-\lambda(t-u)} X_j(t-u)) du + I_i(t) \right] \\ = & \lambda X_i(t) - c_i(t) \int_0^\infty h_i(s) e^{\lambda s} ds X_i(t) + c_i(t) \int_0^\infty h_i(s) e^{\lambda s} \int_{t-s}^t \{ \lambda X_i(u) \\ & - c_i(u) \int_0^\infty h_i(v) e^{\lambda v} X_i(u-v) dv + e^{\lambda u} \left[\sum_{j=1}^n a_{ij}(u) f_j(e^{-\lambda(u-\tau_{ij}(u))} X_j(u - \tau_{ij}(u))) \right. \\ & \left. + \sum_{j=1}^n b_{ij}(u) \int_0^\infty K_{ij}(v) g_j(e^{-\lambda(u-v)} X_j(u-v)) dv + I_i(u) \right] \} du ds \end{aligned}$$

$$\begin{aligned}
& + e^{\lambda t} \left[\sum_{j=1}^n a_{ij}(t) f_j(e^{-\lambda(t-\tau_{ij}(t))} X_j(t - \tau_{ij}(t))) \right. \\
& \left. + \sum_{j=1}^n b_{ij}(t) \int_0^\infty K_{ij}(u) g_j(e^{-\lambda(t-u)} X_j(t-u)) du + I_i(t) \right], \quad i = 1, 2, \dots, n.
\end{aligned} \tag{2.1}$$

Let

$$M = \max_{i=1,2,\dots,n} \sup_{s \leq 0} \{e^{\lambda s} |\varphi_i(s)|\}. \tag{2.2}$$

From (1.2), (H_2) and (H_3) , we can choose a positive constant K such that

$$K\xi_i > M, \text{ and } \eta > \frac{[c_i(t) \int_0^\infty s h_i(s) e^{\lambda s} ds + 1] \sup_{t \in R} |I_i(t) e^{\lambda t}|}{K}, \tag{2.3}$$

for all $t > 0, i = 1, 2, \dots, n$. Then, it is easy to see that

$$|X_i(t)| \leq M < K\xi_i \text{ for all } t \leq 0, i = 1, 2, \dots, n.$$

We now claim that

$$|X_i(t)| < K\xi_i \text{ for all } t > 0, i = 1, 2, \dots, n. \tag{2.4}$$

If this is not valid, then, one of the following two cases must occur.

(1) there exist $i \in \{1, 2, \dots, n\}$ and $t^* > 0$ such that

$$X_i(t^*) = K\xi_i, \quad |X_j(t)| < K\xi_j \text{ for all } t < t^*, j = 1, 2, \dots, n. \tag{2.5}$$

(2) there exist $i \in \{1, 2, \dots, n\}$ and $t^{**} > 0$ such that

$$X_i(t^{**}) = -K\xi_i, \quad |X_j(t)| < K\xi_j \text{ for all } t < t^{**}, j = 1, 2, \dots, n. \tag{2.6}$$

Now, we consider two cases.

Case (i). If (2.5) holds. Then, from (2.1), (2.3) and $(H_1) - (H_3)$, we have

$$\begin{aligned}
0 & \leq X_i'(t^*) \\
& = \lambda X_i(t^*) - c_i(t^*) \int_0^\infty h_i(s) e^{\lambda s} ds X_i(t^*) + c_i(t^*) \int_0^\infty h_i(s) e^{\lambda s} \int_{t^*-s}^{t^*} \{\lambda X_i(u) \\
& \quad - c_i(u) \int_0^\infty h_i(v) e^{\lambda v} X_i(u-v) dv + e^{\lambda u} [\sum_{j=1}^n a_{ij}(u) f_j(e^{-\lambda(u-\tau_{ij}(u))} X_j(u - \tau_{ij}(u))) \\
& \quad + \sum_{j=1}^n b_{ij}(u) \int_0^\infty K_{ij}(v) g_j(e^{-\lambda(u-v)} X_j(u-v)) dv + I_i(u)]\} du ds
\end{aligned}$$

$$\begin{aligned}
& + e^{\lambda t^*} \left[\sum_{j=1}^n a_{ij}(t^*) f_j(e^{-\lambda(t^* - \tau_{ij}(t^*))} X_j(t^* - \tau_{ij}(t^*))) \right. \\
& \left. + \sum_{j=1}^n b_{ij}(t^*) \int_0^\infty K_{ij}(u) g_j(e^{-\lambda(t^* - u)} X_j(t^* - u)) du + I_i(t^*) \right] \\
\leq & \lambda X_i(t^*) - c_i(t^*) \int_0^\infty h_i(s) e^{\lambda s} ds X_i(t^*) + c_i(t^*) \int_0^\infty h_i(s) e^{\lambda s} \int_{t^* - s}^{t^*} [\lambda X_i(t^*) \\
& + c_i^+ \int_0^\infty h_i(v) e^{\lambda v} dv X_i(t^*) + \sum_{j=1}^n a_{ij}^+ L_j^f e^{\lambda \tau_{ij}(u)} |X_j(u - \tau_{ij}(u))| \\
& + \sum_{j=1}^n b_{ij}^+ \int_0^\infty |K_{ij}(v)| L_j^g e^{\lambda v} |X_j(u - v)| dv + \sup_{t \in R} |I_i(t) e^{\lambda t}|] dud s \\
& + \sum_{j=1}^n |a_{ij}(t^*)| L_j^f e^{\lambda \tau_{ij}(t^*)} |X_j(t^* - \tau_{ij}(t^*))| \\
& + \sum_{j=1}^n |b_{ij}(t^*)| \int_0^\infty |K_{ij}(u)| L_j^g e^{\lambda u} |X_j(t^* - u)| du + |I_i(t^*) e^{\lambda t^*}| \\
\leq & -[c_i(t^*) \int_0^\infty h_i(s) e^{\lambda s} ds - \lambda(1 + c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds) \\
& - c_i(t^*) c_i^+ \int_0^\infty s h_i(s) e^{\lambda s} ds \int_0^\infty h_i(s) e^{\lambda s} ds] X_i(t^*) \\
& + \sum_{j=1}^n L_j^f (|a_{ij}(t^*)| e^{\lambda \tau_{ij}(t^*)} + a_{ij}^+ e^{\lambda \tau_{ij}^+} c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds) \xi_j K \\
& + \sum_{j=1}^n L_j^g \int_0^\infty |K_{ij}(u)| e^{\lambda u} du (|b_{ij}(t^*)| + b_{ij}^+ c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds) \xi_j K \\
& + [c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds + 1] \sup_{t \in R} |I_i(t)| e^{\lambda t} \\
= & \{ -[c_i(t^*) \int_0^\infty h_i(s) e^{\lambda s} ds - \lambda(1 + c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds) \\
& - c_i(t^*) c_i^+ \int_0^\infty s h_i(s) e^{\lambda s} ds \int_0^\infty h_i(s) e^{\lambda s} ds] \xi_i \\
& + \sum_{j=1}^n L_j^f (|a_{ij}(t^*)| e^{\lambda \tau_{ij}(t^*)} + a_{ij}^+ e^{\lambda \tau_{ij}^+} c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds) \xi_j \\
& + \sum_{j=1}^n L_j^g \int_0^\infty |K_{ij}(u)| e^{\lambda u} du (|b_{ij}(t^*)| + b_{ij}^+ c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds) \xi_j \\
& + \frac{[c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds + 1] \sup_{t \in R} |I_i(t)| e^{\lambda t}}{K} \} K \\
< & \{ -\eta + \frac{[c_i(t^*) \int_0^\infty s h_i(s) e^{\lambda s} ds + 1] \sup_{t \in R} |I_i(t)| e^{\lambda t}}{K} \} K \\
< & 0.
\end{aligned}$$

This contradiction implies that (2.5) does not hold.

Case (ii). If (2.6) holds. Then, from (2.1), (2.3) and $(H_1) - (H_3)$, we get

$$\begin{aligned}
0 &\geq X'_i(t^{**}) \\
&= \lambda X_i(t^{**}) - c_i(t^{**}) \int_0^\infty h_i(s)e^{\lambda s} ds X_i(t^{**}) + c_i(t^{**}) \int_0^\infty h_i(s)e^{\lambda s} \int_{t^{**}-s}^{t^{**}} \{\lambda X_i(u) \\
&\quad - c_i(u) \int_0^\infty h_i(v)e^{\lambda v} X_i(u-v) dv + e^{\lambda u} [\sum_{j=1}^n a_{ij}(u) f_j(e^{-\lambda(u-\tau_{ij}(u))}) X_j(u-\tau_{ij}(u))] \\
&\quad + \sum_{j=1}^n b_{ij}(u) \int_0^\infty K_{ij}(v) g_j(e^{-\lambda(u-v)}) X_j(u-v) dv + I_i(u)\} duds \\
&\quad + e^{\lambda t^{**}} [\sum_{j=1}^n a_{ij}(t^{**}) f_j(e^{-\lambda(t^{**}-\tau_{ij}(t^{**}))}) X_j(t^{**}-\tau_{ij}(t^{**})))] \\
&\quad + \sum_{j=1}^n b_{ij}(t^{**}) \int_0^\infty K_{ij}(u) g_j(e^{-\lambda(t^{**}-u)}) X_j(t^{**}-u) du + I_i(t^{**})] \\
&\geq \lambda X_i(t^{**}) - c_i(t^{**}) \int_0^\infty h_i(s)e^{\lambda s} ds X_i(t^{**}) + c_i(t^{**}) \int_0^\infty h_i(s)e^{\lambda s} \int_{t^{**}-s}^{t^{**}} [\lambda X_i(t^{**}) \\
&\quad + c_i^+ \int_0^\infty h_i(v)e^{\lambda v} dv X_i(t^{**}) - \sum_{j=1}^n a_{ij}^+ L_j^f e^{\lambda \tau_{ij}(u)} |X_j(u-\tau_{ij}(u))| \\
&\quad - \sum_{j=1}^n b_{ij}^+ \int_0^\infty |K_{ij}(v)| L_j^g e^{\lambda v} |X_j(u-v)| dv - \sup_{t \in R} |I_i(t)e^{\lambda t}|] duds \\
&\quad - \sum_{j=1}^n |a_{ij}(t^{**})| L_j^f e^{\lambda \tau_{ij}(t^{**})} |X_j(t^{**}-\tau_{ij}(t^{**}))| \\
&\quad - \sum_{j=1}^n |b_{ij}(t^{**})| \int_0^\infty |K_{ij}(u)| L_j^g e^{\lambda u} |X_j(t^{**}-u)| du - |I_i(t^{**})e^{\lambda t^{**}}| \\
&\geq -[c_i(t^{**}) \int_0^\infty h_i(s)e^{\lambda s} ds - \lambda(1+c_i(t^{**})) \int_0^\infty sh_i(s)e^{\lambda s} ds] \\
&\quad - c_i(t^{**}) c_i^+ \int_0^\infty sh_i(s)e^{\lambda s} ds \int_0^\infty h_i(s)e^{\lambda s} ds] X_i(t^{**}) \\
&\quad - \sum_{j=1}^n L_j^f (|a_{ij}(t^{**})| e^{\lambda \tau_{ij}(t^{**})} + a_{ij}^+ e^{\lambda \tau_{ij}^+} c_i(t^{**})) \int_0^\infty sh_i(s)e^{\lambda s} ds \xi_j K \\
&\quad - \sum_{j=1}^n L_j^g \int_0^\infty |K_{ij}(u)| e^{\lambda u} du (|b_{ij}(t^{**})| + b_{ij}^+ c_i(t^{**})) \int_0^\infty sh_i(s)e^{\lambda s} ds \xi_j K \\
&\quad - [c_i(t^{**}) \int_0^\infty sh_i(s)e^{\lambda s} ds + 1] \sup_{t \in R} |I_i(t)| e^{\lambda t} \\
&= \{-[c_i(t^{**}) \int_0^\infty h_i(s)e^{\lambda s} ds - \lambda(1+c_i(t^{**})) \int_0^\infty sh_i(s)e^{\lambda s} ds]
\end{aligned}$$

$$\begin{aligned}
& -c_i(t^{**})c_i^+ \int_0^\infty sh_i(s)e^{\lambda s} ds \int_0^\infty h_i(s)e^{\lambda s} ds] \xi_i \\
& + \sum_{j=1}^n L_j^f (|a_{ij}(t^{**})|e^{\lambda \tau_{ij}(t^{**})} + a_{ij}^+ e^{\lambda \tau_{ij}^+} c_i(t^{**})) \int_0^\infty sh_i(s)e^{\lambda s} ds] \xi_j \\
& + \sum_{j=1}^n L_j^g \int_0^\infty |K_{ij}(u)|e^{\lambda u} du (|b_{ij}(t^{**})| + b_{ij}^+ c_i(t^{**})) \int_0^\infty sh_i(s)e^{\lambda s} ds] \xi_j \\
& + \frac{[c_i(t^{**}) \int_0^\infty sh_i(s)e^{\lambda s} ds + 1] \sup_{t \in R} |I_i(t)e^{\lambda t}|}{K} \} (-K) \\
& > \left\{ -\eta + \frac{[c_i(t^{**}) \int_0^\infty sh_i(s)e^{\lambda s} ds + 1] \sup_{t \in R} |I_i(t)e^{\lambda t}|}{K} \right\} (-K) \\
& > 0,
\end{aligned}$$

which is a contradiction and yields that (2.6) does not hold.

Consequently, we can obtain that (2.4) is true. Thus,

$$|x_i(t)| \leq K \xi_i e^{-\lambda t} \text{ for all } t > 0, i = 1, 2, \dots, n.$$

This implies that the proof of Theorem 2.1 is now completed.

3. An Example

Example 3.1. Consider the following DCNNs with continuously distributed delays in the leakage terms:

$$\left\{ \begin{aligned}
x_1'(t) &= - \left(20 - \frac{(1 + |t|) \sin^2 t}{1 + 2|t|} \right) \int_0^\infty e^{-40s} x_1(t-s) ds \\
&+ \frac{|t|^3 \sin t}{1 + 4000|t|^3} f_1(x_1(t - 2 \sin^2 t)) + \frac{|t|^5 \sin t}{1 + 3600|t|^5} f_2(x_2(t - 3 \sin^2 t)) \\
&+ \frac{|t|^7 \sin t}{1 + 4000|t|^7} \int_0^\infty e^{-u} g_1(x_1(t-u)) du \\
&+ \frac{t^2 \sin t}{1 + 3600t^2} \int_0^\infty e^{-u} g_2(x_2(t-u)) du + e^{-3t} \sin t, \\
x_2'(t) &= - \left(20 - \frac{(1 + |t|^7) \cos^2 t}{1 + 2|t|^7} \right) \int_0^\infty e^{-40s} x_2(t-s) ds \\
&+ \frac{t^5 \cos t}{1 + 2000|t|^5} f_1(x_1(t - 2 \sin^2 t)) + \frac{t \cos t}{1 + 5000|t|} f_2(x_2(t - 5 \sin^2 t)) \\
&+ \frac{|t|^3 \cos t}{1 + 6000|t|^3} \int_0^\infty e^{-u} g_1(x_1(t-u)) du \\
&+ \frac{(1 + |t|) \cos t}{1 + 7000|t|} \int_0^\infty e^{-u} g_2(x_2(t-u)) du + e^{-t} \sin t,
\end{aligned} \right. \tag{3.1}$$

where $f_1(x) = f_2(x) = x \cos(x^3)$, $g_1(x) = g_2(x) = x \sin(x^2)$.

Noting that

$$18 \leq c_1(t) = 20 - \frac{(1+|t|)\sin^2 t}{1+2|t|} \leq 20, \quad 18 \leq c_2(t) = 20 - \frac{(1+|t|^7)\cos^2 t}{1+2|t|^7} \leq 20,$$

$$h_1(s) = h_2(s) = e^{-40s}, \quad a_{11}(t) = \frac{|t|^3 \sin t}{1+4000|t|^3}, \quad b_{11}(t) = \frac{|t|^7 \sin t}{1+4000|t|^7}, \quad a_{12}(t) = \frac{|t|^5 \sin t}{1+3600|t|^5},$$

$$b_{12}(t) = \frac{t^2 \sin t}{1+3600t^2}, \quad a_{21}(t) = \frac{t^5 \cos t}{1+2000|t|^5}, \quad b_{21}(t) = \frac{|t|^3 \cos t}{1+6000|t|^3},$$

$$a_{22}(t) = \frac{t \cos t}{1+5000|t|}, \quad b_{22}(t) = \frac{(1+|t|)\cos t}{1+7000|t|}, \quad \tau_{11}(t) = \tau_{21}(t) = 2 \sin^2 t,$$

$$\tau_{12}(t) = 3 \sin^2 t, \quad \tau_{22}(t) = 5 \sin^2 t, \quad L_i^f = L_i^g = 1, \quad K_{ij}(u) = e^{-u}, \quad i, j = 1, 2.$$

Define a continuous function $\Gamma_i(\omega)$ by setting

$$\begin{aligned} \Gamma_i(\omega) &= -[c_i(t) \int_0^\infty h_i(s)e^{\omega s} ds - \omega(1+c_i(t) \int_0^\infty sh_i(s)e^{\omega s} ds) \\ &\quad - c_i(t)c_i^+ \int_0^\infty sh_i(s)e^{\omega s} ds \int_0^\infty h_i(s)e^{\omega s} ds] \\ &\quad + \sum_{j=1}^2 L_j^f (|a_{ij}(t)|e^{\omega\tau_{ij}(t)} + a_{ij}^+ e^{\omega\tau_{ij}^+} c_i(t) \int_0^\infty sh_i(s)e^{\omega s} ds) \\ &\quad + \sum_{j=1}^2 L_j^g \int_0^\infty |K_{ij}(u)|e^{\omega u} du (|b_{ij}(t)| + b_{ij}^+ c_i(t) \int_0^\infty sh_i(s)e^{\omega s} ds), \quad \text{where } t > 0, \quad i = 1, 2. \end{aligned}$$

Then, we obtain

$$\begin{aligned} \Gamma_i(0) &= -c_i(t) \int_0^\infty h_i(s) ds [1 - c_i^+ \int_0^\infty sh_i(s) ds] \\ &\quad + \sum_{j=1}^2 L_j^f (|a_{ij}(t)| + a_{ij}^+ c_i(t) \int_0^\infty sh_i(s) ds) \\ &\quad + \sum_{j=1}^2 L_j^g \int_0^\infty |K_{ij}(u)| du (|b_{ij}(t)| + b_{ij}^+ c_i(t) \int_0^\infty sh_i(s) ds), \quad i = 1, 2. \end{aligned}$$

Therefore,

$$\begin{aligned} \Gamma_1(0) &\leq -18 \times \frac{1}{40} \times (1 - 20 \times \frac{1}{1600}) + 2 \times [1 \times (\frac{1}{4000} + \frac{1}{4000} \times 20 \times \frac{1}{1600}) \\ &\quad + 1 \times 1 \times (\frac{1}{3600} + \frac{1}{3600} \times 20 \times \frac{1}{1600})] \\ &< -0.1, \end{aligned}$$

and

$$\begin{aligned}
\Gamma_2(0) &\leq -18 \times \frac{1}{40} \times (1 - 20 \times \frac{1}{1600}) + [1 \times (\frac{1}{2000} + \frac{1}{2000} \times 20 \times \frac{1}{1600}) \\
&\quad + 1 \times (\frac{1}{5000} + \frac{1}{5000} \times 20 \times \frac{1}{1600})] \\
&\quad + 1 \times 1 \times [(\frac{1}{6000} + \frac{1}{6000} \times 20 \times \frac{1}{1600}) \\
&\quad + 1 \times 1 \times (\frac{1}{7000} + \frac{1}{7000} \times 20 \times \frac{1}{1600})] \\
&< -0.06,
\end{aligned}$$

which, together with the continuity of $\Gamma_i(\omega)$, implies that we can choose positive constants $\lambda > 0$ and $\eta > 0$ such that for all $t > 0$, there holds

$$\begin{aligned}
-\eta &> \Gamma_i(\lambda) \\
&= -[c_i(t) \int_0^\infty h_i(s)e^{\lambda s} ds - \lambda(1 + c_i(t) \int_0^\infty sh_i(s)e^{\lambda s} ds) \\
&\quad - c_i(t)c_i^+ \int_0^\infty sh_i(s)e^{\lambda s} ds \int_0^\infty h_i(s)e^{\lambda s} ds] \xi_i \\
&\quad + \sum_{j=1}^2 L_j^f (|a_{ij}(t)|e^{\lambda \tau_{ij}(t)} + a_{ij}^+ e^{\lambda \tau_{ij}^+} c_i(t) \int_0^\infty sh_i(s)e^{\lambda s} ds) \xi_j \\
&\quad + \sum_{j=1}^2 L_j^g \int_0^\infty |K_{ij}(u)|e^{\lambda u} du (|b_{ij}(t)| + b_{ij}^+ c_i(t) \int_0^\infty sh_i(s)e^{\lambda s} ds) \xi_j,
\end{aligned}$$

where $\xi_i = 1, i = 1, 2$. This yields that system (3.1) satisfied (H_1) , (H_2) and (H_3) . Hence, from Theorem 2.1, all solutions of system (3.1) converge exponentially to the zero point $(0, 0)^T$.

Remark 3.1 Since $f_1(x) = f_2(x) = x \cos(x^3)$, $g_1(x) = g_2(x) = x \sin(x^2)$ are unbounded activation functions, and DCNNs (3.1) is a very simple form of DCNNs with continuously distributed delays in the leakage terms, it is clear that all the results in [10–23] and the references therein can not be applicable to prove that all solutions of system (3.1) converge exponentially to the zero point. To the best of our knowledge, the results on DCNNs with continuously distributed delays only appeared in the literature [24], which are restricted to consider the convergence of the neural network system and give no opinions about the globally exponential convergence. One can observe that the results in [24] and the references cited therein cannot be applicable to prove the globally exponential convergence of system (3.1).

This implies that the results of this paper are essentially new. Moreover, we proposed a new approach to prove the exponential convergence of DCNNs with continuously distributed delays in the leakage terms. This implies that the results of this paper are essentially new.

Acknowledgement. The authors would like to express the sincere appreciation to the reviewers for their helpful comments in improving the presentation and quality of the paper. This work was supported by the National Natural Science Foundation of China (grant no. 11201184), the Natural Scientific Research Fund of Hunan Provincial of China (grant no. 11JJ6006), the Natural Scientific Research Fund of Zhejiang Provincial of China (grants nos. Y6110436, LY12A01018), and the Natural Scientific Research Fund of Zhejiang Provincial Education Department of China (grant no. Z201122436).

References

- [1] H. Jiang, Z. Teng, Global exponential stability of cellular neural networks with time-varying coefficients and delays, *Neural Networks* 17 (2004) 1415-1425.
- [2] O. Kwon, S. Lee, J. Park, Improved results on stability analysis of neuralnet works with time-varying delays: novel delay-dependent criteria, *Mod. Phys. Lett. B* 24 (2010) 775-789.
- [3] O. Kwon, J. Park, Exponential stability analysis for uncertain neural networks with interval time-varying delays, *Appl. Math. Comput.* 212 (2009) 530-541.
- [4] J.H. Park, Further result on asymptotic stability criterion of cellular neural networks with time-varying discrete and distributed delays, *Appl. Math. Comput.* 182 (2006) 1661-1666.
- [5] X. Li, C. Ding, Q. Zhu, Synchronization of stochastic perturbed chaotic neural networks with mixed delays, *J. Franklin Inst.* 347 (2010) 1266-1280.
- [6] O. Kwon, J. Park, Delay-dependent stability for uncertain cellular neural networks with discrete and distribute time-varying delays, *J. Franklin Inst.* 345 (2008) 766-778.
- [7] S. Haykin, *Neural Networks*, Prentice-Hall, NJ, 1994.
- [8] B. Kosok, *Neural Networks and Fuzzy Systems*, Prentice-Hall, NewDelhi, 1992.
- [9] K. Gopalsamy, *Stability and Oscillations in Delay Differential Equations of Population Dynamics*, Kluwer Academic Publishers, Dordrecht, 1992.
- [10] K. Gopalsamy, Leakage delays in BAM, *J. Math. Anal. Appl.* 325 (2007) 1117-1132.
- [11] X. Li, J. Cao, Delay-dependent stability of neural networks of neutral type with time delay in the leakage term, *Nonlinearity* 23 (2010) 1709-1726.

- [12] X. Li, R. Rakkiyappan, P. Balasubramaniam, Existence and global stability analysis of equilibrium of fuzzy cellular neural networks with time delay in the leakage term under impulsive perturbations, *J. Franklin Inst.* 348 (2011) 135-155.
- [13] P. Balasubramaniam, V. Vembarasan, R. Rakkiyappan, Leakage delays in T-S fuzzy cellular neural networks, *Neural Process Lett.* 33 (2011) 111-136.
- [14] B. Liu, Global exponential stability for BAM neural networks with time-varying delays in the leakage terms, *Nonlinear Anal.: Real World Appl.* 14 (2013) 559-566.
- [15] Z. Chen, M. Yang, Exponential convergence for HRNNs with continuously distributed delays in the leakage terms, *Neural Comput. & Applic.* (2012) DOI 10.1007/s00521-012-1172-2.
- [16] Z. Chen, J. Meng, Exponential Convergence for Cellular Neural Networks with Time-Varying Delays in the Leakage Terms, Hindawi Publishing Corporation, *Abstr. Appl. Anal.* (2012) ID 941063, 11 pages, doi:10.1155/2012/941063.
- [17] Z. Chen, A shunting inhibitory cellular neural network with leakage delays and continuously distributed delays of neutral type, *Neural Comput. & Applic.* (2012) DOI 10.1007/s00521-012-1200-2.
- [18] P. Balasubramaniam, M. Kalpana, R. Rakkiyappan, State estimation for fuzzy cellular neural networks with time delay in the leakage term, discrete and unbounded distributed delays, *Comput. Math. Appl.* 62(10) (2011) 3959-3972.
- [19] P. Balasubramaniam, M. Kalpana, R. Rakkiyappan, Global asymptotic stability of BAM fuzzy cellular neural networks with time delay in the leakage term, discrete and unbounded distributed delays, *Math. Comput. Modelling.* 53(5-6) (2011) 839-853.
- [20] S. Lakshmanan, Ju H. Park, H.Y. Jung, P. Balasubramaniam, Design of state estimator for neural networks with leakage, discrete and distributed delays, *Appl. Math. Comput.* 218(22) (2012) 11297-11310.
- [21] Z. Li, R. Xu, Global asymptotic stability of stochastic reaction-diffusion neural networks with time delays in the leakage terms, *Commun. Nonlinear Sci. Numer. Simul.* 17(4) (2012) 1681-1689.
- [22] Z. G. Wu, Ju H. Park, H. Su and J. Chu, Discontinuous Lyapunov Functional Approach to Synchronization of Time-Delay Neural Networks Using Sampled-Data, *Nonlinear Dynam.* 69(4) (2012) 2021-2030.
- [23] Z. G. Wu, Ju H. Park, H. Su and J. Chu, Robust Dissipativity Analysis of Neural Networks with Time-Varying Delay and Randomly Occurring Uncertainties, *Nonlinear Dynam.* 69(3) (2012) 1323-1332.
- [24] S. Peng, Global attractive periodic solutions of BAM neural networks with continuously distributed delays in the leakage terms, *Nonlinear Anal.: Real World Appl.* 11 (2010) 2141-2151.

(Received August 18, 2012)